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1. T oft S & e k 931 HT A% 3k2 + 5k
?| Freferfad # & Sm-mr ad &7

(@ S% W& T g h R, R
T FR 14 B}

(b) S % W TH THIR AN T ¥, e
T W 6 Bl

() S% W& TH oRR Avfi s ¥, Rrgs
e U™ 10/7 R

(d) S% T TH R oft s ¥, Rig
U U 11/4 31

2. Th GP % J9H 8 W& & INThel 6% UH 4
W@ % ATEA k1 Ui T R AR r 1 W
I &, @ r % fran Gvifa awafie Tm @
hd &7

(@ &
(b) @A
(c)
(d) o3 At

3. IR WHF x2 ~ kx +k = 0 1 TH A qR A
2V3 #ft R, @ k # 9H Fefifen § @

-4’7
(@) 3 (b) 6
) 9 (d 12

4. Ifg x+g=4 3R y+2=-4, @ (x+y)

Toraes s 7
(@) O (b) 1
{c) 4 (d S
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5. 4R Th AP ¥ 54, 74 ik 133 e GP # £, @
T TR TE N THF WH AR A Y 1
27

(@) -3
(b) -2
(c) 2

@d 3

6. 3R p, 1, gAPH & 3R p, 2, g GP H &, &
Fefoleaa Fort § § F-w/H9-3 wd 2/87

I. p, 4, qHPH %
. (1/p), 1/4, (1/q) AP ¥ §|

e T T g2 1w W wd sw g
(@) Fad 1

(b) FaA II

(c) 13MR113E

(d AaRIMIA 1

7. AR x =(1111),, y= (1001), 3R z = (110),,
: ?ﬁx3—y3—z3—3xyzﬁ?€l%w%?

(@) (1111001),
(b) (1001111),
(© (I,

(d) (0),



1. The sum of the first k terms of a series S

is 3k2 + 5k. Which one of the following
is correct?

5. If 5th, 7th and 13th terms of an AP are in

GP, then what is the ratio of its first
term to its common difference?

(@) The terms of S form an arithmetic (@ -3
progression with common
difference 14. B g

(b) The terms of S form an arithmetic
progression with common
difference 6.

(c) 2

(d 3
(c) The terms of S form a geometric
progression with common ratio
10/7. 6. If p, 1, g are in AP and p, 2, q are in GP,
then which of the following statements

d) The t f S fi i
(d) e terms o orm a geometric is/are correct?

progression with common ratio
11/4. 1. -p, 4, qare'in HP.
... (3/p):1/4, (1/qg) are in"AP.
2. The sum of the first 8 terms of a GP is .
five times the sum of its first 4 terms.

; ; 5 Select the answer using the code given
If r # 1is the common ratio, then what is

below.
the number of possible real values of r?
(@) One (a) 1 only
(b) Two
(b) 1I only
(c) Three

(d) More than three (c) Both I and II

(d) Neither I nor II
3. If one root of the equation x% —kx+k =0

exceeds the other by 23, then which

one of the following is a value of k? 7. If x =(1111),, y=(1001), and z = (110),,
: 3. 3 3
(@ 3 (b) 6 then: "what - is x" -y~ -2z° -3xyz

equal to?
(c) 9 . (d) 12

(@ (1111001),

4. If x+5 =4 and y+32 = -4, then what is
v x (b) (1001111),
(x + y) equal to?
el {1
@ 0 () 1 b

{o) 4 (d) 5 (@ (02
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8. Ife 11. IR A2+ B2 +c2 =0, @

a b c 1 cosC cosB
A=|d e f cosC 148 ¥ cosA
g h i cosB cosA 1
SR A, B, C, D, G¥@@dl q, b, ¢, d, g % 1 qF 27
FAY: WEE@S &, q bB+cC-dD - gG ha®
T 7 (@) -1 (b)) O
- 0 1 (@ 2
(b) 1
/oy 12. 3R o T (unity) F FERERF T 3, @
(@ -A ]
9. HR® X¥1 T Tt
kk+2) 2k+1 1 0 x+w? 1 |=0
A=|2k+1 k+2 1 i N
3 37 ;
1 T T (root) F1 87
% e & frefeifaa et w fem Hifv . :
I AYTHF R, IR k> 0. it i e
II. AW%,W&’C<O. (c) xXxX=0 (d) x=0)2
. AYAER, Rk =0.
Ifeh et 3 @ v /e W 2/47 & (ﬁn)s’mrﬂmg?
(@) H§ s e
(b) TH (@ -1 (b) O
& © 1 @ 3
(d) |+t d=
10. 3fe 14. IR x%2 - x+1=0, A
2 3+i -1 1\2 1\¢ 1\®
31 o aloA n (x—}) +(x_§) +(x_3£) ,
s e
: o w27
SRl i = V=1, @ A+ B fras suer 27
(@) 81 (b) 85
(@ -10 (b) -6
c 0 @d 6 (c) 87 {d 90
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8. If
@b
A=t el
g-:h si
and A, B, C, D, G are the cofactors of the
elements a, b, ¢, d, g respectively, then
what is bB+ cC-dD - gG equal to?

(@ O
(b) 1
() A
(d -A

9. Consider the following statements in
respect of the determinant

k(k+2 2k+1 1
A=|2k+1 k+2 1
3 3 1

I. A is positive if k > 0.
II. A is negative if k < 0.
III. A is zero if k =0.

How many of the statements given
above are correct?

(a) None

(b) One

(c) Two

(d) All three

10. If
2 3+i -1
3-i 0 i-1|=A+iB
-1 -1-1i 1

where i = +/-1, then what is A+ B equal
to?

(@ -10 (b) -6
¢ O d 6
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11. If A2 +B2+C2 =0, then what is the
value of the following?

1 cosC cosB
cosC 1 cosA
cosB cosA 1

(@) -1 (b) O

© 1 @ 2

12. If is a non-real cube root of unity, then
what is a root of the following equation?

x+1 (0] (0]

0 x+0° 1E L)

2 1 xX+0
(@@ x=0 (b) x=1
c0 x=0 (d) x = 02

N
13. What is (://_g:) equal to?
(@) -1 (b) O
(e)i: 1 d 3

14. If x2 - x + 1= 0, then what is

(=il (=)

equal to?
(@) 81 (b) 85
(c) 87 (d) 90

[ P.T.O.



15.

16.

17.

18.

19.

20.

¥ CAPITAL % 9+t 31&/l 1 W41 0% e
7-3 1 W (Ifgl W erefdE) s W
m’é,mﬁsmwﬁmﬁwv@m

o3

mi?
(@ 360 (b) 300

) 288 (d) 240

MW z20 T wWwE s §, @
amp (2) + amp () T s 27

(@ O (b) m/2
© = (d) 2n

T agu, fwd 20 faml €, A fee semd
&

(@) 6 (b) 7

c) 8 (@d 10
¥ DELHI & 31811 &1 e YR § =qafem
o w1 wwar §, R =@ ek =i )
feufa smfafda (unchanged) ®?

(@ 6 (b) 9

¢ 12 (d 24

X+y+z=5% YATHS ‘I?ﬁiﬁ Sl (positive
integer solutions) ¥ T fohat &7

(@) 3 (b) S
€ 6 @d 9

(37 +5%)12 % war § vy wd 9 dEm
Tt 27

(@) 2 (b) 3
(c) 4 (@ 6
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21. 3R (x+y)" ¥ vER F fwg i w5 G

256 &, @ Frfefed w3 § & feull weem
Tows 7T fmam?

(@) R
(b) 3
(c) ufed
(d 4

22. M k<W2+1)3 <k+2, & k T FQE

?, @ k9 =27

23. 3fe

(@ 11 (b) 13
(c) 15 (d 17
39 3
[x 1 1[4 5 6||1|=p45
7 8 9f|x
@ Fefafaa § @ F-a1 x &1 w6 7E 27
(@) -2 (b) -1
(c) 0 @d 1

24. I

?iﬁfx, Y, z%?,@ﬂfﬁ'ﬁw’(\‘,?ﬁ
x? +y? + 22 F AR T R?

(@ O (b) 1

) 4 (d) 14



15. How many 7-letter words (with or without
meaning) can be constructed using all
the letters of the word CAPITAL so that
all consonants come together in each

word?
(a) 360 (b) 300
(c) 288 (d) 240

16. Ifz # 0is a complex number, then what is
amp (2) + amp (2) equal to?

(@ O (b) m/2
(e =« (d) 2n
17. How many sides are there in a polygon
which has 20 diagonals?
(@) 6 (b) 7
(c) 8 (d) 10
18. In how many ways can the letters of the

word DELHI be arranged keeping the
positions of vowels and consonants

unchanged?
(a) 6 (b) 9
(c) 12 (d) 24

19. What is the number of positive integer
solutions of x + y+z =57?

(@) 3 (b) S
() 6 @ 9
20. What is the number of rational terms in
the expansion of (3% + 5%)12 ?
(@) 2 (b) 3
(c) 4 (d) 6

AEBC-B-MTH/55A

21. If the sum of binomial coefficients in the
expansion of (x+y)" is 256, then the

greatest binomial coefficient occurs in
which one of the following terms?

(@) Third
(b) Fourth
(c) Fifth
(d) Ninth

22. If k<(W2+1)3 <k+2, where k is a
natural number, then what is the value

of k?
(@) 11 (b) 13
(c)15 {d) 17
23. It
iD= Sl
[x 1 1{4 5 6{]1|=[4F
787294 %

then which one of the following is a

value of x?
(@ -2 (b) -1
(c) O (@ 1
24. If
Yoz A%
A={z x Y
a1z

where x, y, z are integers, is an
orthogonal matrix, then what is the
value of x? +y2 $2°9

(@) © (b) 1
€ 4 (@ 14

[ P.T.O.




25. TF FopAviid Agg M F e ¥, freffaa

R fa=m Hifvr

L |M?|=|M?

I |M|=|M}

I |M|=|MT|

I A A foram/fr v 2/%7
(@) 3 st 7

(b) T

(€ @

(d) wft d=

26. 3Ife

£6) = [ cos8 sine}

-sin® cosH

@ {f(n)? Forer SR 27
g 151

(@) [o —1] ) [1 1}
1.4 10

(© [o J (@ [o 1]

1 2
A=|2 2
2 1

@ A2 -4 Forae R 77
(@) -SI,

(b) -I3

(c) I3

(d) 5I,

27. e

N = N

STET I Hife 3 1 e SR B
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28. IR 5n firg awgedt & @ - wgel F = B

&A1, (n+7) TEGAT F F591 61 G F TR
?, @ 7 A T R?

(@ n
(b) 2n
(c) 3n

(d) 4n

29. 6 firs gt & & sifo-3-sft 3 T &

=5 ) T w1 ¥
(@ 20
(b) 22
(c) 41

(d) 42

30. 3fe

X z
A=y X
= y

SRl x, y, z T 8, T it e 2, @
A2 Tres suear 27

%X N @

(@) 3 AR
(b) dqcHHS ATHg
(c) A

(d) -A



25. Consider the following in respect of a
non-singular matrix M :

L |M?|=| M

. |M|=|M}Y

. |M|=|MT|

How many of the above are correct?
(a) None

(b) One

(c) Two

(d) All three

26. If

; cosB sin®
O e o]

—-sin® cosH

then what is {f (1t)}2 equal to?

5y -9 s P
(@) [0 —1} () [1 1]
=y 0 5 e
© [o J (@ [o 1]

27. If

1
A=|2
2

N = N
- N N

then what is A2 —-4A equal to?
(@) -5I,

b) -I

(c) I3

(d) Sl

where I; is the identity matrix of order 3.
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28. If the number of selections of r as well as
(n+ ) things from 5n different things are
equal, then what is the value of r?

(@ n

(b) 2n
(c)-=3n
(d) 4n

29. What is the number of selections of at
most 3 things from 6 different things?

(@ 20

(b) 22

(c 41

(d) 42

30. If

XAz
A=y z x
XY

where x, y, z are integers, is an
orthogonal matrix, then what is A2
equal to?

(a) Null matrix
(b) Identity matrix
c A

d) -A

[ P.T.O.



HM a1 A9 (03) v % fog frefifas w fEw
wHifere

A wifse p =sin35°, q=sin25° 3R r = sin(-95°)

31. (p+q+r) oFas sU=R &7

35. p &1 Aftehaq 9= F1 &7

(@) 1
(b) 2
(¢ J3

(@ -1

(b) O

(c) 2sin5°
(d) 2cos5°

32. (pq+qr + rp) Fa% SR 87

(@) -3/4

(@ 2

M I f (03) ywiw! F Ry Frefafas w fEr
Hferg

% B ABC &t i AB=3cm, BC=5cm 3R
CA=7cm%|

36. frmfaiaa oAt w famm Hifve
L 7% Bige o srftreaf fyw R

(b) O
(¢ 1/4
(d 3/4

33. (p? +q? +r?) fras s 7
(@ 1/2
(b) 1
(€ 3/2
@ 2

A T A (02) T F g fefifes w fEw
Hfer ;

AR AT p = | sina - sinfo - 90°) |
34. p 1 AW A FT 27

(@ O

(b) 1/2

() 1/2

(@ 1

AEBC-B-MTH/55A 10

1. 38 Pis % =eon 1 dmmee off =3 &)
3T FUE § A PE-A1/PA-A G /7
(@ Fa 1

(b) F= I

(c) 13 113E

(d AdRIARAA I

37. «Bf¥a® s &7

(@ 60°
(b) 105°
€ 120°
(d) 150°

38. e #1 &he 1 B7

(@ 15V3 /4 & cm
(b) 15V3 /21 cm
(c) 153 cm
(d) 30V3 @ cm



Consider the following for the three (03) items
that follow :

Let p =sin35°, q=sin25° and r = sin(-95°).

31. What is (p+q+71) equal to?
(@)
(b) O
(c) 2sinb°

=1

(d) 2cosb5°

32. What is (pg +gr +rp) equal to?
(@)
(b) O
() 1/4
(d) 3/4

-3/4

33. What is (p? + g2 +r?) equal to?
(@ 1/2
(b) 1
) 3/2
(d) 2

Consider the following for the two (02) items
that follow :

Let p =|sina -sin(o — 90°)|.

34. What is the minimum value of p?
(@ O
(b) 1/2
0 1/42
(d 1

AEBC-B-MTH/S55A

35. What is the maximum value of p?
(@ 1
(b) 2
¢ 3
(d) 2

Consider the following for the three (03) items
that follow :

The sides of a triangle ABC are AB=3cm,
BC=5cm and CA=7cm.

36. Consider the following statements :

I. .- The" inangle ‘is
triangle.

obtuse-angled

II. The sum of acute angles of the
triangle is also acute.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 11 only

(c) Both I and II
(d) Neither I nor II

37. What is ZB equal to?
(@) 60°
(b) 105°
(c) 120°
(d) 150°

38. What is the area of the triangle?
(a) 15J3 /4 square cm
(b) 153 /2 square cm

(c)
(@)

11

15/3 square cm
3043 square cm



HM T B (02) T F fou Frafafes w fEw HM @ W (03) Twi ¥ g Frafafas w fEw
Hifsg : wHifere

qa;zm%;sﬁﬁ(M)aﬁ@Qﬁam}@sﬁm&m ﬂﬂ?ﬁﬁﬂ?p=tan2a—tana3ﬁtq=cota—cot2a
% U1 (N) ¥ B R ®, W R f fgadi p, 0

?
3 R A @1 9 R1 P, Q R RA M F - adl

F: 30°, 45° 94U 60° §| WA T PO =q 3N (@) -tana-tan2o,
OR=b?I (b) —cota -cot2o.
39. PN fhes ster 27 (c) tano-tan2o
(d) 'cot(z -cot20
(@ 3—2J§ A
42. (p + q) TFas ser 27
(b) 3+4/3 s (a) secdo.
. (b) cosec4o
(c) 2sec4o
) 3-4J3 *
4 (d) 2cosec4o
i 3+43 . 43. tan? o foree® sUeR B7
% (@ (pq)/(p+aq)
(b) (p+2q)/p
40. MN Frad s 27 . Byl oa)
(d p/@p+q)

A 93 A (02) vE F fow Frefafas | fER
Hifere :

() [3_2J§)b #H R 2sina +coso, = 2, F& 0 <o < 90°
44. tano f&E% s 27
(c) (3_4‘/§)b (@ 1/2
(b) 1
(@ [3+J§Jb c) 3/4
f @ 2

AEBC-B-MTH/S55A 12



Consider the following for the two (02) items
that follow :

The top (M) of a tower is observed from three
points P, Q and R lying in a horizontal straight
line which passes directly along the foot (N) of
the tower. The angles of elevations of M from P,
Q and R are 30°, 45° and 60° respectively. Let
PQ=a and QR = b.

39. What is PN equal to?

(@ (3—2«/5)(1

3+3
2

(b)

3-43

(c) 2

3+4/3
4

(d)

40. What is MN equal to?

(@ 3+2J§ b
) 3—2J§ b
© 3—4J§ b
(@ 3+4J§ b

AEBC-B-MTH/55A
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Consider the following for the three (03) items

that follow :

Let p = tan20 - tano and g = cota - cot2a.

41. What is (p/q) equal to?
(@) -tano -tan2o
(b) —cota -cot2o.
(c) tano-tan2o

(d) cota -cot2o

42. What is (p +q) equal to?
(a) sec4o.
(b) cosec4o
(c) 2sec4a.
(d) 2cosec4a

43. What is tan? o equal to?
(@) (pq)/(p+aq)
(b) (p+2q)/p
(c) p/lp+2q)
(d) p/Rp+q)

Consider the following for the two (02) items

that follow :

Let 2sina +coso =2, where 0 <o < 90°.

44. What is tano equal to?
(@ 1/2
(b) 1
(c) 3/4
(@ 2

[P.T.O.



45. 2sin20 +cos20, fHEF TR 77
(@ 11/10
(b) 11/5
© 12/5

(d 13/5

AqA ™ B (02) TwEiE # fow Fefafes w fTEw
Hifor

T B ABC H, 3t y9d BC 3R CA, 2: 1% 1gum
H % 3R 37 faadia W o 3: 1% g § §)

46. = % Hoit § | TF F01 R
(@ 15°
(b) 30°
(c) 45°

(d 75°

47. Tfafas FuH ® fa=mr fifsw
1 T wwenfa 2

1. Frge i o e, gl s ) 3 T R
. By & & A, 3R BAP# §)

ST HUAI H A FH-T1/PA-A T 2/
(@) Faa 1

(b) FES 11 3R 111

(c) a1 3R 11

(d) »1, I1 3R 111

AEBC-B-MTH/55A
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50. IR tan!k +tan”!

48. 50m 9K A H R F muw (p) @

100 m T M R @Sl TH Afw s@al ¢ 5
y¢ % I=aw fog (Q 1 IHE-FU 45° B
ot =1 3w forg R W R 3as afafes P
R ¥R Q T% W W1 ¥ § 9u1 98 W @i
PM % @aaq 8| $11 RMQ forass sen 27

o ()

49. IR x2 -4x+1=0 & TH A k B, @

tan! k + tan™! % Toraes SR ®7
(@ -n/2
(b) 0

() m/4

[d@ n/2

=g,‘<’hk3ﬂqﬂ

N | =

1?7
(@ 1
(b) 1/2
© 1/3
(@ 1/4



45. What is 2sin20. +cos20 equal to?
(@ 11/10
(b) 11/5
(c 12/5
(d) 13/5

Consider the following for the two (02) items
that follow :

In a triangle ABC, two sides BC and CA are in
the ratio 2: 1 and their opposite corresponding
angles are in the ratio 3: 1.

46. One of the angles of the triangle is
(@ 15°
(b) 30°
(c) 45°

d 75

47. Consider the following statements :
I. The triangle is right-angled.

II. One of the sides of the triangle is
3 times the other.

IlI. The angles A, C and B of the
triangle are in AP.

Which of the statements given above
is/are correct?

(@) 1 only
(b) 11 and III only
(¢) 1 and III only

(d 1,11 and III

AEBC-B-MTH/55A 15

50. If tan'k + tan™! % i

48. A man at M, standing 100 m away from

the base (P) of a chimney of height 50 m,
observes the angle of elevation of the
highest point (Q) of the smoke to be 45°.
The highest point of the chimney is at R.
Further P, R and Q are in a straight line
and the straight line is perpendicular to
PM. What is the angle RMQ equal to?

o ()
=
o il

@ )

49. If k is a root of x2 —4x + 1= 0, then what

is tan"lk + tan! —,]é equal to?

(@ -n/2

(b) O

(c) n/4

(d /2

g, then what is the
value of k?

(@ 1

(b) 1/2

(c) 1/3

(d 1/4

[ P.T.O.



51. fu wfoey ¥ il W@ m2x+ny-1=0

@R n2x- my+2 = o%’iﬂimm
LK

54. 7 T tErEs AB % simfag A3, -1) ik

B(1, 1) §1 WM wfifm YarEe AB 1 aefig
P®| M o Q, Y@rde AB % v fywi

W R PA V2 S H W R fag
R Q % Gwifaa Frdsriss w 7

(@ mn-1=0

() mn+1=0 (@ 1)

(c) m+n=0 (b) 3

b a0 © 2
@ (1 3

52. AR p 3R g, 0 3R 1 ¥ 69 3@ W A
andfad wemd § 7% fag (p, 1), (1 g @
(0 0 T wHaTg Biyst & ¥, @ (p+g)

55. ABC % wHatg fayw R aﬁtAD BC ®
e 81 aft A% & (1, 2) 2 s D ¥

T e 37 58w (-2, 6) &, @ BC % w1 37
(@ 32 (@ 3x+4y-18=0
a) 2
(b) 4x+3y-1=0
(b) J2-1
() 4x-3y+26=0
¢ 2-43
(d 3x-4y+30=0
(d) 4-2J3

56. 39 IW H FHIHY F1 &, FEH =@ 10 cm 2
AR 3% @ A A A F @R x+y=0

53. w faus & i (L, 1), B(, 0) 3 c 0 AR x-y=0%?

H Bys & wrfm Ry (angular

bisectors) PR fired &1 P % s @7 ¥7 @ x2+y2=1

(@ (L v2-1)
: ) x*+y® =25
() (1L V3-1)
2 28
(¢ (1 1/2 (9 x“+y* =100
(@ (1/2 v2-1) (d) x?+y?-2x-2y-23=0

AEBC-B-MTH/55A 16




51. Under what condition will the lines 54. Let A(3, -1)and B(], 1) be the end points

m2x+ny-1=0 and n?x-my+2=0 be of line segment AB. Let P be the middle
perpendicular? point of the line segment AB. Let Q be
_ the point situated at a distance 2 units
(@ mn-1=0 from P on the perpendicular bisector
line of AB. What are the possible
(b)) mn+1=0 coordinates of Q?
(@ 21
(c) m+n=0
i i 0 () 3
(€ & 2
52. If p and g are real numbers between O @ (1 3

and 1 such that the points (p, 1), (1, gq)
and (0, 0) form an equilateral triangle,

then what is (p + ual to?
iR 4pey o 55. ABC is an equilateral triangle and AD is

@ 2 the altitude on BC. If the coordinates of
A are (1, 2) and that of D are (-2, 6),
then what is the equation of BC?

(b) V2-1 (@ 3x+4y-18=0
© 2-43 (b) 4x+3y-1=0

(c) 4x-3y+26=0
(d 4-2V3

(d 3x-4y+30=0

56. What is the equation of the circle whose
diameter is 10 cm and the equations of
two of its diameters are x+y=0 and
x-y=0?

53. The vertices of a triangle are A(l 1),
B0, 0) and C(2 0. The angular
bisectors of the triangle meet at P. What
are the coordinates of P?

(a) x2+y2=1

(@ (1 ~2-1)

b 0 V3-1 i i

(€ (1 1/2 (¢ x%+y*=100

d (/2 v2-1) (d x2+y?-2x-2y-23=0

AEBC-B-MTH/55A 17 [P.EO:



57. T x? + y? +2x+2y+ 1= 0% 3icvia w9

Sifehd & o gt ot v wie % i
8| Fr=fafaa % @ FR-w ot = o g 27

(@ (-2 2

(b) (-2 -2

1 1
@ (15 1)
(d) 39 & | FE T

58. Wae¥ (parabola) y? =4x W TH Tl

x-AY 6 gATHE eI F WY 45° F B w
A R wiE o waem W wifeg
HH-|1 27

(@ (L1
(b) 2 2V2)

© (3 3)

@ (1 2

59. fquae™ (hyperbola) 25x2 - 75y2 =225

A A T % e A 70 R 27
(@) 243 T8
(b) 43 T
(c) V6 T
(d) 26

60. 3t TH diHgu (ellipse) W HN forg

(3sina, Scosc) B, @ didgw A Iskxar
87
(@ 4/3 (b) 4/5

€ 3/4 @ 1/2

AEBC-B-MTH/55A
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61. Ife 3 AW § U Y@ s &l 6 vers

ﬁmaﬁ%ma,saﬂwmm%,ﬁ
cos(a +B)cos (o — p) ToFaeh =R &7

(@) cos? Y
(b) -cos? Y
(c) sin? Y

(d) -sin?y

62. A(L2-1), B(2 5 -2) 3R C(4,4,-3) T

Hd & o 3 {1 st w1 S @ 7
(@) 8 T

(b) 9 i T

(c) 66 i g

 (d) 68 = T

63. ABC W fiya &, S B W wwsviw ¥) 3R

A(k, 1, -1), B(2k, 0 2) 3R C(2+2k, k, 1)
Boge & o &, o k1 T w7

(@) -3 @ -1
) 1 (d 3
64. Ife T @

x+1=y—1=z—2
b q r

K p=2q=3r, y-A4 N TR e F
WG 6 HIV ST &, A cos20 FFeh s 27

(@ -31/49

(b) -37/49
(c 31/49
(d) 37/49



57. A square is inscribed in a circle

x2+y? +2x+2y+1=0 and its sides
are parallel to coordinate axes. Which

one of the following is a vertex of the
square?

(@ (-2 2
(b) (-2 -2

(d) None of the above

58. A tangent to the parabola y2 =4x is

inclined at an angle 45° with the positive
direction of x-axis. What is the point
of contact of the tangent and the
parabola?

(@ (1 1)
b) @ 242)

(© (% %)

@ (1 2

59. What is the distance between the two foci

of the hyperbola 25x2 - 75y? =225?
(@ 23 units

(b) 4+/3 units

(c) 6 units

(d) 26 units

If any point on an ellipse is

(3sina, Scosa), then what is the
eccentricity of the ellipse?

(@ 4/3 (b) 4/5
() 3/4 (d 1/2
AEBC-B-MTH/55A 19

61. If a line in 3 dimensions makes angles o,

B and y with the positive directions of
the coordinate axes, then what is
cos(o +B)cos (o —B) equal to?

(@) cos? Y
(b) —cos?y
(c) sin? Y

(d) -sin?y

62. A(L2 -1), B(2 5 -2) and C(4, 4, -3) are

three vertices of a rectangle. What is the
area of the rectangle?

(a) 8 square units
(b) 9 square units
(c) J66 square units
(d) /68 square units

63. ABC is a triangle right-angled at B. If

A(k, 1, -1), B(2k, 0, 2) and C(2+2k, k, 1)
are the vertices of the triangle, then
what is the value of k?

(@ -3 b) =1
(¢ 1 (d 3

64. If a line

x+1=y—1___z—2
p q r

where p =2q=3r, makes an angle 6
with the positive direction of y-axis,
then what is cos26 equal to?

(@ -31/49
(b) -37/49
() 31/49
(d) 37/49

[ P.T.O.



65. 39 wHAS 1 FHiEO 1R, S RRg (11, 1) 68. i fagali A, B 3k % fufy aftw 9w @,

B TR ® SR W Y@ w W R, fwn b 3 ¢ 3@ vwR 5 3d-45+¢=0 21
fe-orgum (3 2, 1) #7 AB: BC T aumr 7
(@ x+2y+3z=6 (@ 3:1
(b) 3x+2y+z=6 ) 1:3
) x+y+z=3
{c): 3:4
(d 3x+2y+z=0
d 1:4

66. T @1 fawis & fil garers fwmad ¥ @y
@ B R y HIU TR B IR "
d =(sin2a)i +(sin2B) j+ (sin2y)k @ 69. di forgati A, B 3R % feufa aftw wawn: 3,

T kY A % - b 3 ¢ ¥, W 2= (cos? )2 +(sin2 6)b
=1+ ] , @ d-b TFas s 371 Sy T
B1(dxb)+(bx3)+(Cxa) fras swmr 27

(@) -2
(@ O
(b) -1
P (b) 22
(@ 2 © 32
67. TR d = (@xb)x8 ¥ W #, Prefifaa (d) W g
FeAl W fomm fifv
I d Wl ? d o b % wel 70. WM @R 2, B, (@xi) e whw ¥
II. daat2wm| (@ -b) Feras s 27
SET FEl § § BH-11/HA-Q T8 B/E7 (@ o
(@) ¥ 1 B
(b) FaA I
(c) 13113 fe) 1
(@ FAMIARAA N d 3

AEBC-B-MTH/55A - 20



65. What is the equation of the plane 68. The position vectors of three points A, B
passing through the point (1, 1, 1) and
perpendicular to the line whose
direction ratios are (3,2 1)?

and C are @, b and @ respectively such
-5
that 33 -4b+¢=0. What is AB:BC

equal to?
(@) x+2y+3z=6
@ 3:1
(b) 3x+2y+z=6
() 1:3
) x+y+z=3
(c 3:4
(d 3x+2y+z=0
(d) =14
66. A line makes angles o, B and ¥
with the positive directions 3 ;
of e coordinnte i If 69. The position vi:tois of tllree points A,
‘d=(sin?a)i+(sin®B)j+(sin®?y)k and Band C are a, b and ¢ rejpectlvely,
Pl e 22 .2 .
b=i+ J+k, then what is a-b equal to? Whelf . _’(COS BEFsiach, What 56
(@xb)+(bx?¢)+(¢xd) equal to?
(@) -2
A
b -1 (@ O
(¢ 1 (b) 2¢
(d) 2
(c) 3¢
67. Consider the following statements in
- 5 ey hie
respect of a vector d =(axb)Xc : (d) Unit vector
0 5 - =2
I. d is coplanar with a and b.
1I (‘i' 2 dical t - B T : g
e is' perpenaicuiar 1 c. 70. Let a, b, (a X b) be unit vectors. What is
- =
Which of the statements given above (a-b) equal to?
is/are correct?
(@ O
(a) 1 only
(b) 1/2
(b) 1I only
() Both I and II fol =3
(d) Neither I nor II (@ 3

AEBC-B-MTH/55A " 21 : | BTH0.




M 9§ (02) i % fon Frafafes w fEw
HIR

HH ST x = sec - cosh 3R y=sec?B-cos? 9

71. (%’)2 Toraa s 7

2 20
(@) 4(y2 +4) (b) 4(_1;2 4)
(x“ +4) (x“ -4)
2 2
(©) 16(_;/ +4) (@ 16(12; 4)
(x= +4) (x= -4)

2
72. ("2 +4]@[(x2 L 16y} Ezich
dx2

y2 +4 )dx

LIS ¢

(@) 16x (b) 16y
€ -16x (d -16y

HM A 9 (02) v ¥ fou Frefafias w fER
Hfve

M ST ABC & fye 8, S B W @weiig & afR
AB+AC=33#T|

73. IR s # e afuewan R, @ 24 Feaw

T 27
(@ n/6 (b) n/4
© =n/3 (d) 5m/12

74. TS =1 siftehan dee @ #7
(@) 3 /23 518
(b) 3 o 5T
(c) 6 /2= gHIg
(d) 6 = T

AEBC-B-MTH/55A
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HA A
#ifsg :

qH ST (x+y)P*9 = xPyd, SEl p, q wHF

qUTieh &1
75. yF x % GNE FahHerS
(@) Fad p W AR war 2
(b) Had q R Pl e 2
() p 3R g3F | AR w2
(d) p 3R q3F A @aa ?

& (02) wwE ¥ fou fefiRa w =R

76. vﬁ%p+q=1o,‘ch%mﬁ;w%?

a4
X

(b) xy
(€ xPy°

. ( %)10

AW 9§ (02) N & oy Frafafas w feEw
$ife

Y% dfad HE x % U 9% y= flx)
(% flx) ® TR i T 4 ¥ IR 9% guleg
(origin) & B TR B

77. 5 1 TWEY 1 7
(@ (1,4)9 ToRA 9Tell T a2 @
(b) (-1, 4) ¥ oA ATl TH G @

() T waed fvme i qefeg w eiv
Tf (2 o)W ?

TF Waod foed i gefag woeik
i (1, ) W B

(@)




Consider the following for the two (02) items
that follow :

Let x = sech —cos® and y=sec? 6 -cos*6.

2
71. What is (@) equal to?
dx

4y? +4) 4y° -4
(x2 +4) (x2 -4
16(y? +4 16(y? -4
o —E g 20U 4
(x= +4) (x= -4)

2 2
72. What is | Xt |9 (2 +4)_‘_i___~'l_16y
2 dx2

Yy +4 )dx
equal to?
(a) 16x (b) 16y
(c) -16x (d) -16y

Consider the following for the two (02) items
that follow :

Let ABC be a triangle right-angled at B and
AB+ AC = 3 units.

73. What is ZA equal to if the area of the
triangle is maximum?

(@ m/6 (b) mn/4
e =/3 (d) 5n/12
74. What is the maximum area of the
triangle?
(@) 3 /2 square unit
(b) /3 square units
(c) 6 /2 square units
(d) 6 square units

AEBC-B-MTH/S5A

Consider the following for the two (02) items
that follow :

Let (x + y)?*9 = xPy4, where p, q are positive
integers.

75. The derivative of y with respect to x
(a) depends on p only
(b) depends on g only
(c) depends on both p and g
(d) is independent of both p and g

76. If p+q=10, then what is —Zii equal to?
@ ¥
x

(b) xy
() x°y°

@ (4

Consider the following for the two (02) items
that follow :

The slope of the tangent to the curve y= f(x) at
(%, f(x)) is 4 for every real number x and the
curve passes through the origin.

77. What is the nature of the curve?

(a) A straight line passing through
(1 4)

(b) A straight line passing through
-1 4)

(c) A parabola with vertex at origin
and focus at (2, 0)

(d) A parabola with vertex at origin
and focus at (1, 0)

[P.T.O.



78. TH, x-AG IR W1 x =4 TW NeEg & F AW @ q(02) WA * forg Frafafes = faem

S 1 87 Hifse
(@) 8 T M AT ®e1 y = (1-cosx)~!, F&l x = 2nn 3 n
2l
(b) 16 T TS b iy
81. HoH I WIE 1 §7
(c) 32 3§
(@ [0 )
(d) 64 = T
(b) [05 <)
a2 (02) A F R FrRifen ® RER i L
e (d) (-, 05]
i o i e |
o ﬂx)_{xz, Xt a1 82. [ydx fore® R &7
79. lim f’(x) foraeh seR &7 (a) -tan(x/2)+c
x—0
(b) -cot(x/2)+c
(@ 2
(c) tan(x/2)+c
(b) 1
(d) cot(x/2)+c
(g O
(@) o AfeE T8 2 et - 8|

80. fi=fafaa Fut w fer Fift 3N A A (02) v F fo Frefeafen w faEm

i Hifeg
. x=-1% %A dad 8|
A Y SeH f(x) = sin[x], & [] HEwH O
I x=1% %A ATHad gl B & M g(x) = x)

ST T 3§ A-w/AR-0 T R 83. lim {f(x) gix)} Frar srem 27
(@) Faa 1 ki
(@ -1
(b) Fad II g
(c) 13 I3 o h
(@ Fdq1dmId 1 (d) o frea TE R

AEBC-B-MTH/55A 24



78. What is the area bounded by the curve,
the x-axis and the line x =47

(a) 8 square units
(b)

(c) 32 square units

16 square units

(d) 64 square units

Consider the following for the two (02) items
that follow :

x3, x2 <1

Let f(x)=
Fix) {x2, X 2T
79. What is lim f’(x) equal to?
x—0
(@) 2
(b) 1
(c) O

(d) Limit does not exist

80. Consider the following statements :

I. The function is continuous at

x=~L

II. The function is differentiable at
=il

Which of the statements given above
is/are correct?

(a) 1 only
(b) 1I only
(c) Both I and II

(d) Neither I nor II

AEBC-B-MTH/55A
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Consider the following for the two (02) items
that follow :

Let the function y= (l;cosx)"l, where x # 2nn
and n is an integer.

81. What is the range of the function?

(@ [0, =)
(b) [0S, =)
(c) [1 =)
(@) (=< 03]

82. What is Iydx equal to?
(@) —tan(x/2)+c
(b) —cot(x/2)+c

(c)
(d)

tan(x /2)+c
cot(x/2)+c
where c is the constant of integration.

Consider the following for the two (02) items
that follow :

Let the function f(x)=sin[x], where [] is
the greatest integer function and g(x) =|x|

83. What is lim {f(x)g(x)} equal to?
x—0

(a -1
(b) O
(e 1

(d) Limit does not exist

[ P.T.O.



84. lim %) fra o ??
x—0 g(x)

(@) —-sinl

(b) sinl

{c)-©

(@) v A @ 2

FA A q (02) WA F fog e w fem
#ifv :

A AT £ (x) = |x - 3].
85. oM f(x) 1 Wid 1 &7
(@ (0, <)
(b) (3 =)
(©) (oo =)
(d) (-, =)~{3}
86. IF f(x) IR y=3 TN Ueg & H &A%
w1 R7
(@) 3= g
(b) 45 THTE
(c) 75 TS
(d) 9 = T

A 9 B (02) v & forg Frfaiaa w famm
Hifr

T £ = (1, 1), (2 4), (37), (4 10)
87. AR f(x)= px+q, A (p+q) H 7 187
(@ -1
(b) O
(¢ 1
(d)-=5

AEBC-B-MTH/55A

88. fr=faRaa weml W fa=r i .
I f T HeH B

. AR f % GEW@ YOIl 1 TgEA B,
@ f ATBTES Bod ¢

30 FHOM § | BH-H1/HH-Y w9 R/R?
(@) Faa 1

(b) Fad 1

(c) 13113

(d) ARMIAMAAI

IR A A (02) v F fou Frafafan w fEw
#Hifs :

HH SR BeH £ (x) = x2 - 1.
89. 1iml{fof(x)}ﬁﬁaé‘sw%?

(@ -1
(b) O

¢ v Rl
(@ 2

90. FeH f (x) 3R x-AG g UNes & H &%
w1 &7
(@) 1/37 0
(b) 2 /3 58
() 4/3% T
(d) 2 = gehté



0% Whaiiaitia fx) dirial 19 88. Consider the following statements :

0 = =
x—0 g(x) I. f is one-one function.

(@ - ~sinl II. f is onto function if the codomain
(b) sinl is the set of natural numbers.
L S Which of the statements given above
(d) Limit does not exist is/are correct?

Consider the following for the two (02) items (@) 1 only

hat fi *

that follow PR

Let the curve f(x)=|x-3|. () Both Land 1i
c

85. What is the domain of the function f(x)?
(d) Neither I nor II

(@) (0, =)
(b) (3, =)
(c) (—oo, o) Consider the following for the two (02) items

that follow :

(d) (== ==)~{3}

Let the function f(x) = 2 -1,

86. What is the area bounded by the curve
flx)and y=3?

R 3
(a) 3 square units 89. What is J1(15131{)‘ o f(x)} equal to?

(b) 4'5 square units (@ -1
(c) 7-5 square units () 0
(d) 9 square units
(¢ 1
Consider the following for the two (02) items d 2
that follow :
Let f={11), (24), (37), (4 10)}. 90. What is the area bounded by the function

: f(x) and the x-axis?
87. If f(x)= px+gq, then what is the value

of (p+q)? (@) 1/3 square unit
(@ -1

(b) 2 /3 square unit
(b) 0
© 1 (c) 4 /3 square units
{d) .5 (d) 2 square units

AEBC-B-MTH/55A 27 [ BT:0.



R 9@ A (02) FEE % fory Fefifed w fER
Tﬁﬁﬂ"{: :
3

Tlﬂ?ﬁﬁﬁ{ y=sin'1(x—42i7—).

91. y foras s=R 27
gosie] ey b 1,
(a)>8in- > x (b) sin (5)

(c) 3sin!x (d) 3sin*1(§)

92. %mﬁ;wé?

1 ]
(@) (b)
9-x2 3-x2
3 9
) == 4 e
\/9—x2 \/9—x2

IqM 9 A (02) vt F fow Fefafes w R
Hifs ;
M i e f(x) = x2 +9.
93. iii,no—f%mm%?
(@ 2/3
(c) 4/3

(b) 1
(d) 2

94, frfafad o ® fem Hifs :
I  f(x) T% 999 BeH B
. f(x) % T Afemkar 91 x = 0 W ?)
I HoE A A BH-A1/HE-Y T R/E?
(@) Fad 1
(b) Fad I
(c) 13 II3M!
(d FAMIARIAI

AEBC-B-MTH/55A

AN 9 & (02) v & forg fafafes w fmm

Hifs

x 3R y % oft yTows arafas Al 6 faw wem
X

flx), f(—)=Mﬁé§2m%3ﬂzf(2)=3.
y) fl

95. f(16) foresh TR &7
(@ 18
(b) 27
(c) 54

(d) 81

96. f(1) f(4) forah su=r &7
(@ 4
(b) 8
(¢ 9

(d) 18

IR a q (02) v F fog Fefafes w faEw
i :

x 3R y & wfi arafeas A F foU wF %o £ @
TFR B 7 flxy) = f(x +y) 3R £(5) = 10.

97. f(0) fFa =R 27
(@ O
(b) 1
(¢ S

(@ 10



Consider the following for the two (02) items

that follow :

3
Let y=sin'l x—i "
27

91. What is y equal to?

(a) sin™! x (b)

sin"l(f)
S

(c) 3sin”! x (@) 3sin‘1(§)
92. What is 9y equal to?
dx
1 1
(a) ) ===
9-x2 3~ x4
3 9
0 (@) ek
V9 - x?2 9-x*

Consider the following for the two (02) items
that follow :

Let the function f(x)= x2 %09,

93. What is lim M— equal to?
x—=0,f(x)+7 -4
(@ 2/3 (b) 1
(¢ 4/3 @ 2

94. Consider the following statements :
I.  f(x) is an increasing function.

II. f(x) has local maximum at x = 0.

Which of the statements given above
is/are correct?

(a) 1 only

" (b) 1I only
(c) Both I and Il
(d) Neither I nor II

AEBC-B-MTH/55A
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Consider the following for the two (02) items
that follow :

The function f(x) satisfies f (f) = M for all
y) fly)

positive real values of x and y, and f(2) = 3.

95. What is f(16) equal to?
(@) 18
(b) 27
(c) 54

(d) 81

96. What is f(1) f(4) equal to?
(@ 4
(b) 8
(¢ 9

d) 18

Consider the following for the two (02) items
that follow :

A function f is such that f(xy) = f (x + y) for all
real values of x and y, and f(5) = 10.

97. What is f(0) equal to?

(@ O
(b) 1
) S

(d 10

[ P.T.O.



98. f(20)+ f(-20) fFa TR 7 I 9 9N (04) ywE % fou Frefafas w fEw

Hifer :
(@ O i
TF F&l % S H IAE (height) F1 S0ERAT 52
49 fen % s
(b) 10
F97% (cm #) Bl # qEqr
Qe 160-162 12
@ 4 162-164 15
164-166 24
166-168 13

H M A (02) v % fore frffen RN o) g @ pa den R 3, e S

P : ‘ 165 cm & 9 A1 IGF e 87
"M T £ (x) = [x2), ST [] Few QUi Her R (@ 15
99, J-gf(x)dxmw%? (b) 39
c) 51
y il (@ S A P
(b) 2(3-+2)
102. F& I WIfeqsw (median) =18 w0 R7?
() 3-42
(@) 162:41 cm
@ 1

(b) 163:41 cm

3 (c) 16441 cm
100. Iﬁf(x)dx Forash s 37
(d) 16541 cm

(@ 6-J3-2J2
' 103. & ¥ Ud Aftr IR yrht I Tl S R
(b)) 6-J3-42 (@ 1635 cm
() 6-43+2J2 bt
(c) 1645 cm
(d 6+J3-2J2 (d) 1649 cm
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98. What is f(20)+ f(-20) equal to?

(@ O
(b) 10
(c)* 20

(d) 40

Consider the following for the two (02) items
that follow :

Let f(x)= [x2], where [-] is the greatest integer
function.

: 3
99. What is J:g f(x)dx equal to?

(@ 3-+2
(b) 2(3-+2)
() 3-2

(@ 1
100. What is jji flx)dx equal to?
(@ 6-3-2J2
(b)) 6-J3-2
(c) 6-3+22

(d 6+J3-2V2

AEBC-B-MTH/55A

Consider the following for the four (04) items

that follow :

The frequency distribution of height of

students of a class is given below :

Height (in cm) | Number of Students
160-162 12
162-164 15
164-166 24
166-168 13

101. What is the total number of students
whose height is less than or equal to

165 cm?

(@ 15

(b) 39

(c) 51

(d) None of the above

102. What is the median height of the class?

(@) 162:41 cm
(b) 16341 cm
(c) 16441 cm

(d) 16541 cm

103. The height which occurs most frequently

in the class is

(a) 163:5 cm
(b) 1639 cm
(c) 1645 cm

(d) 1649 cm
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104, T T FRFERAT S w1 Halts g Arerd!
e &

(a) 3 3@ (bar chart)

(b) Wiwd <€ IR@ (percentage bar
chart)

(c) FmEared (histogram)
(d) 9 3@ (pie chart)

A T & (02) e % fow Frefefae w faEw
HIRr

50 FwrEHeaHim Al (tropical tubers) # &g X
(cm ®) 3R 997 Y (gm ®) % @ra Y807 1 A6
R I TN H A 3@ TSR fem wm R
TX =200, Y =250, =X2 =900 3R =Y 2 = 1400

105. Ffafea § & #F-w1 @& 27
(@)
(b)
(c)
(d)

TE (X) > T8/ (Y)
FH (X) < T8/ (Y)
TE (X) = T8/ (Y)
weu 21 ¥ Fuifa 78 frn s s

106. T=fafaa weut § ¥ F=-w1 @@ 27

X 1 fo=ror unies, v % fereor o @
TA: (strictly) 3Ifess &1

X 1 fo=r Tore, Y % fereon one @
IEA: (strictly) F9 2|

X % o= uiie, v % TR o %
TR R

weq 221 ¥ oo e fwffa T fFan
T HehaT |

(@)

(b)

()

(@)

AEBC-B-MTH/55A
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M e q (02) et F forg Frefeafas w faem
Hifv

A ST I=@ n=6 3R p=k % 99 X g s
1 AT FW ATl TF TG =W 2| T6H AINH,
9P(X =4)=P(X =2) Bl

107. k&1 §H &1 87

(@) 1/2 (b) 1/3

e 1/4 (@ 1/5

108. P(X = 3) %l HH &1 87
(@ 135/1024
(b) 5/128
(c) 45/1024
(d) 70/1024

M I & (02) v * forw Frefefes w fomm
HIRm

7wl 9K 4 HRens % T @R # A 6 weE A
s qiufa %1 meA e T Ry

109. 39 Al & 924a: (exactly) 3 TSHI & i

B i wiiewar == &7
(@ 10/33 (b) 30/77

(¢ 100/231  (d) 5/11

110. 39 9ffy & +9-Q-w0 2 wieenstt & miva a9

=1 ifRreRar FT 87
(@) 41/66 (b) 47/66
() 49/66 (d) 53/66



104. The most appropriate graphical
representation of the given frequency
distribution is

(@)
(b)
(c)
(@)

bar chart
percentage bar chart
histogram

pie chart

Consider the following for the two (02) items
that follow :

The sum and the sum of squares of the
observations corresponding to length X (in cm)
and weight Y (in gm) of 50 tropical tubers are
given as X =200, IY =250, £X2 =900 and
2Y 2 = 1400.

105. Which one of the following is correct?
(@)
(b)
()
(@)

Variance (X) > Variance (Y)
Variance (X) < Variance (Y)
Variance (X) = Variance (Y)

Cannot be determined from the
given data

106. Which one of the following statements is
correct?
(a) Coefficient of variation of X is
strictly more than -coefficient
variation of Y.

Coefficient of wvariation of X
strictly less than coefficient
variation of Y.

(b)

Coefficient of variation of X is same
as coefficient of variation of Y.

()

Coefficient of variation cannot be
determined from the given data.

(@)

AEBC-B-MTH/55A
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Consider the following for the two (02) items
that follow :

Let X be a random variable following binomial
distribution with parameters n=6 and p=k.
Further, 9P(X =4)= P(X =2).

107. What is the value of k?
(@ 1/2 (b) 1/3

fc) 1/4 (@ 1/5

108. What is the value of P(X = 3)?

(@) 135/1024

(b) 5/128

(c) 45/1024

(d) 70/1024
Consider the following for the two (02) items
that follow :

A committee of 6 members is formed from a
group of 7 gentlemen and 4 ladies.

109. What is the  probability that
the committee includes exactly
3 gentlemen?
(@) 10/33 (b) 30/77
(c) 100/231 (d 5/11

110. What is the probability that the
committee includes at least 2 ladies?
(@) 41/66 (b) 47/66
(c) 49/66 (d) 53/66
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M T | (02) wEt F fog Frefafas w fmr
$ifer :

A, B 3R C % yags 591 I Tieard 9 3/10,
1/2 3R 4/5 %) AR A, B @1 C Yau® &+, A
Afew (JF8) A5 & @] By Sm ot wilesand
FU: 4/9, 2/9 41 1/3 T

111. ey (dF) A5 % @ By WR A

yTRear a1 27
(@ 17/45 (b) 19/45
(c) 23/45 (d) 26/45

112. AR ey (W) Qs @ B S R, @

1 WifeRan ¢ T Frges foran T weives B on?
(@ 5/23 (b) 6/23
€ 7/23 (d) 8/23

113. 100 Y& F AR WA 50 Bl IR TAF
Jeur § § 5 wa fom ww R fw 20 @
fonfsa = fon sy, @ T SWiR wew

Bm?
(@ 225 (b) 35
©) 425 (d) 55

114. 100 &0 %1 9Fs f=em 10 B 9 y&®

g § 5 s fem g o iR 20 @ fawfsa
R eI S, @ = Ao e w0 e
(@ 0-25 (b) 05
(¢ 075 (d) 1-00

115. Ik  P@A)=1/3, PB)=1/2 3K
P(AnB)=1/4, @ P(B|A°) % 4H 1 87
(@ 1/8 (b)) 3/8
(¢ 5/8 (d 7/8

AEBC-B-MTH/55A

116. Ik P(A)=1/3, P(B)=1/2 X
P(AnB)=1/4, @ P(A°AB°) % WM
E IR
(@ 1/4 (b) 5/12
(¢ 7/12 (d 11/12

117. 3R @ ARG 9™ N IS ST R, q@ RN
TileraT @ T 9@l % ol W oA areh
Tl w1 ARThA 7 ¥ aEga: (strictly)

Hftrw A7
(@ 1/3 (b) 5/12
€ 7/12 (d 3/4

118. & v g R wey w fom @m $
iRat 1/5 B AR 98 Al 7 IR SRR @
R, @ o wRea ® % 98 o @ W
FH-Y-FH 3 IR e Fme?

@ 1-(%)(%)6

GE
o (3
@ -(3)E)

119. M g X fEug e 1 S1geRvr + aren T
Igfess R &, fmsd me R wwo wu:
200 3R 160 §| wewt 6 §& (n) F TH

w1 87
(@) 500 (b) 1000
(c) 1500 (d) 2000

120. 82,92 102, ..., 152 = GHIG AL 9491 &7

(@ 1335
) 1375

(b) 1355
(d 1395



Consider the following for the two (02) items
that follow :

The probabilities that A, B and C become
managers are 3/10, 1/2 and 4/5 respectively.
The probabilities that bonus scheme will be
introduced if A, B and C become managers are
4/9, 2/9 and 1/3 respectively.

111. What is the probability that the bonus
scheme will be introduced?

(@) 17/45 (b) 19/45
(c) 23/45 (d) 26/45
112. If the bonus scheme has been

introduced, then what is the probability
that the manager appointed was B?

(@ 5/23 (b) 6/23
lc) 7/28 (d 8/23

113. The arithmetic mean of 100 observations
is 50. If 5 is subtracted from each

observation and then divided by 20,
then what is the new arithmetic mean?

(@ 225 (b) 3:5
(c) 425 @) 55
114. The standard deviation of 100

observations is 10. If 5 is added to each
observation and then divided by 20,
then what will be the new standard

deviation?
(@) 0-25 (b) 05
(c) 075 (d) 1-00
115. If P(A)=1/3, P(B)=1/2 and
P(AnB)=1/4, then what is the
value of P(B|A€)?
(@ 1/8 (b) 3/8
() 5/8 (@ 7/8

AEBC-B-MTH/55A
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116. If P(A)=1/3, P(B)=1/2 and
P(AnB)=1/4, then what is the
value of P(A° N B°)?

(@) 1/4 (b} 5/12
(c) > T/12 (@ 11/12

117. If two fair dice are tossed, then what is
the probability that the sum of the
numbers on the faces of the dice is
strictly greater than 7?

(@ 1/3 (b) 5/12
© 7/12 (d 3/4

118. The probability of a man hitting a target
is 1/5. If the man fires 7 times, then
what is the probability that he hits the
target at least twice?

o 1-G)E)
o 1-(3)E)
o 1=(5)3)
@ -(5)8)

119. Let X be a random variable following
binomial distribution whose mean and
variance are 200 and 160 respectively.
What is the value of the number of

trials (n)?
(@) 500 (b) 1000
(c) 1500 (d) 2000
120. What is the arithmetic mean of
84, 0% 199,157
(@ 1335 (b) 1355
(c) 137'5 (d) 1395

[P.T.O.
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